S$117-R - SINGLE SWING & BASKET SWING creative
Installation Instructions P(d_}’

pgtol7  02.002024 AP REF: S117-R - SINGLE SWING & BASKET SWING



PARTS REQUIRED

ey ey W

;j@ﬁw%“

TOP BEAM - LONG S111R1

X8
UPRIGHTS S101R1 @
x12 o X1
i BLACK M8 NUT CUP
P/
x1 X2 X2
FLAT SEAT (INC CHAIN) QUICKLINK
x12 x12 x12
END CAPS AL M12 x 310 SQUARE CUP BOLT

pazol7  02.04.2024 AP REF: S117-R - SINGLE SWING & BASKET SWING



FOUNDATION DETAILS

5674.4

3300.0 FB&D—

600

Concrete

- -,
g 11500 1500 _ . 1500 _ I 3
™ N
o
Ql
N~y
) o)
O . 6\0
~ finished ground level
Y l
o Soil
| o / Timber support post

pg3of7 02042024 AP REF: S117-R - SINGLE SWING & BASKET SWING



SURFACING DETAILS

______ = MINIMUM SPACE
= SURFACE AREA
= SYNTHETIC
|_ 6740 .w
i
. 3000 _ 1560
|
A
. S
: o
o T 3|3
2 =h
Y
Yy [ | '
j 5211
S |

pgdol7 02042024 AP REF: S117-R - SINGLE SWING & BASKET SWING



INSTALLATION INSTRUCTIONS

BUILD THE DOUBLE SWING FRAME
USINGM12X310 X 6 / NYLOCS X 6/ END CAPS X6 W OUTSIDE TIMBERS

BUILD THE SINGLE SWING FRAME
USING M12X310 X 6 / NYLOCS X 6/ END CAPS X6

% ouTSIDE TIMBERS

paSol7  02.01.2024 AP REF: S117-R - SINGLE SWING & BASKET SWING



INSTALLATION INSTRUCTIONS

INSTALL ASSEMBLY
FOLLOW FOUNDATION DETAILS

e m8ea
o —=)
T
\\A A ’// \ L\q\
A VAR
/ / \\\ \\\ /,' / \
/ // \\\ / / \
/ / \\ // \
/ \ \
/ / \\ \\ ’,’ / \ \
// Y ’,’/ ’,“’ \
\\ \\ “’ ”’
/ / |
\ \
— |

4 INSTALL SEATS ACCORDING TO HEIGHT SPECIFIED IN ADDITIONAL DIMENSIONS
USING M8 NUT CUP X12 . ADDITIONAL DIMENSIONS FOR SEAT HEIGHT

N
~ LOCK TIGH

N "'/~\

N

:\\\

pgGol7 02042024 AP REF: S117-R - SINGLE SWING & BASKET SWING



ADDITIONAL DIMENSIONS

SEAT HEIGHT BELOW

i

-
-~
Tl

2400

) i
R 5

2950,

—

2572

=

2143

.600.

pa7ol7  02.04.2024 AP REF: S117-R - SINGLE SWING & BASKET SWING




